
LED TR SECURITY LIGHT
Instruction Manual

Add: 1501 Industrial Way N. Toms River, NJ 08755   Phone: 866-222-8866   E-mail: info@abblighting.com   
 Web: www.aboveallLighting.com  ©2016 ABOVE ALL, Inc. All rights reserved

SAFETY INSTRUCTION

Maintenance Caution

SUITABLE FOR MODEL

WIRE CONNECTION

READ CAREFULLY BEFORE INSTALLING FIXTURE. PLEASE KEEP THIS MANUAL FOR FUTURE USE. 
Fixtures must be wired in accordance with the National Electrical Code and all applicable local codes. Proper grounding
is required for safety.
THIS PRODUCT MUST BE INSTALLED IN ACCORDANCE WITH THE APPLICATION CODE BY A PERSON
FAMILIAR WITH THE CONSTRUCTION AND OPERATION OF THE PRODUCT AND THE HAZARDS INVOLVED.
MAKE CERTAIN POWER IS OFF BEFORE INSTALLING OR MAINTAINING FIXTURE.
CHECK THAT VOLTAGE IS COMPATIBLE WITH FIXTURE DRIVER. USE APPROVED CONNECTORS FOR
ALL ELECTRICAL CONNECTIONS.

1. Review the wire connection before beginning, and make sure fixture is grounded properly.
2. For lighting controls, follow control instructions carefully.
3. Turn power off and wait for fixture to cool before performing maintenance.
4. Maintenance must be done by professionals. 

IMAGE MAY VARY FROM ACTUAL PRODUCT

1

LED
BOARD

PHOTOCELL
RED(+)

RED
DC(+)

BLACK(-)
BLACK
DC(-)

ACL
(BLACK)

ACN
(WHITE)

GROUND
(GREEN) GROUND

WHITE

RED

BLACK

N

L

POWER



LED TR SECURITY LIGHT
Instruction Manual

Add: 1501 Industrial Way N. Toms River, NJ 08755   Phone: 866-222-8866   E-mail: info@abblighting.com   
 Web: www.aboveallLighting.com  ©2016 ABOVE ALL, Inc. All rights reserved

2

R
ef#: 11091-21020

INSTALLATION

 

Lock sheet

Seal ring

M4X8 Screw

Connection box

M4X30 Screw

Front housing

Back housing

Drill locations   

1/2"NPS hole

Lug boss

1. Remove two M4X30 screws by the hexagon wrench, and remove the front housing.
2. Remove two M4X8 screws and connection box.
3. Attach the back housing to the wall according to the drill locations.
4. Pass the AC input wire through the hole of 1/2" NPS to back housing.
5. Using the P3 connection bolt (in attached pocket) connect the wires according 
to the wire connenction diagram.
6. Dress the AC input wires by the connection box so they do not interfere with the 
assembly of the front main housing.
7. Put the lock sheet on front housing to the lug boss(please ensure the place of seal 
ring ),and use the hexagon wrench to tighten two M4X30 screws for covering the front 
housing.


